(SZLCQ —+ 1) -+ SQLcl F(s) = KS(
sC1(s?LCy + 1)

 L(Ch1+Cy)s* +1

- sC(s2LCy + 1)

1
LG+ C) St miorey _ C1+ G S Y ooy

LCiCy  s(s2+ 1) C1C2  s(s*+ 1¢5)

5445t 9 [

3
5x4 s(s2+ ) 20|s(s2+ 1)

10



> Re

—oy| '~ — |
1 .
B TS T
~ |, - /\\//.Amu//\
e AN INT AN
— |
| |
)
N—"
N
— |
8 e B
-
__ + [ B
| WA - |
TN L | 2
— | < — 7f e i
+ R |_n|_J =) n |_U
-
o | N |
~— | | o "
0 w W 3 .. o
=l F

11



Z(s) =
20 s(s? + i)
9 —w’+ 3
Z(jw) = 2
9 —w?+3
(CU) — = 2 91
20 w(—w —+ Z)
AL T4

X(w)

18 0

]

v

12



[FE1e82] Ly=4[H] L =9 [H]

B SLlﬁ N sLo SéZ »—0
B sLi+ =  sLy+ =

Scl 302 —_ — _
- 8L1 X SL2 Cl =1 [F] 02 =1 F]
1 + 82L101 1+ 82[/202

SL1<1 + 82L202) + 8L2(1 + 82L101)
(1 + 82L101)(1 —+ SZLQCQ)
1 s((Ly + Lo) + s°L1 Ly (Cy + C3))

L1C1L>CY5 <L1101 —+ 82)(L2102 + 82)

Z(s)

2 Li+Lo
WA RSBl Gz e,

%Cl%CQ (82 -+ LllCl )(82 -+ L2102)

2 L+ L
B C,+Cy ° (S T L1L2(C1j02)>

G0y (524 Lllcl)(52 + L;Cz)

13



> Re

2R
1._]31_2
"~
= S nU_ _
- N2 NN 2 AN\ N/
™ [ AN
— | 1._]3 = | i<
"~
"~
|
VN
7 < Q
SIS
QO N
3 =
+S + )17
i N7 | o \L/ (o))
| @ T
L( o))
o || +Z
(N ﬂm. <[> 28
— |~ X | ~~
N <t | —~ —~ |
™
W+ | + 173)2+
n 0
DR | ~— T + | =
SIS 2 2
+2 T % s
o T X &
C | o\
| 1 |
N
0
N—"

< =2
| — if
BTQ A — |
+ =R
A
Va)
~_ f~
n S +
. | I
2 @ @
i
)
|l
N
— | O
— A~
I_l S SN
o - -
~— |l I
N = =)
f~ ‘o
A
| ;
€0 )
=
Sl



15



[FHRE3) Ly=1[H] € =4]F]

Z(s) (it ) (st ) oy e
S) = Y'Y Y | |
(SLl + sé&) + (SL2 + gé’g) L2 _ 1_ [H] CI'I — 9 [F]

(82L101 + 1) (SQLQCQ -+ 1)
sCs (s2L1C1 4+ 1) + sCq (s2L2Cy + 1)

(82L101 -+ 1) (82[/202 -+ 1)
S (52L10102 + 02 + 82L20201 + Cl>

B (82L101 + 1) (SQLQCQ -+ 1)
- 5(C1Co(Ly + La)s? + (C1 + Cy))

1 1
L1 La(% (82 T L1C1) (‘92 T L202>

— L L Cl CQ
Q’l%( 1+ 2) S (82 + 0102(—[',_1+L2)>

16



Z(s) =

2 1 2 1
L1L2 (S _|_ L1C1) (8 _|_ LQCQ

)

L+ L 2 C1+C \
' 2 s (S T 01021(1114%112)/

11 (574 53) (7 + 5q)

14+1 449
T (52 + 4><9(1+1))

~J| —
DO | Lo

.

-

A R AN

I
.
NE
DO | O
(N
L
| |
. .
NI o) =

* Re

17



BALT3 X(40) = —00, X(00) =

18



Lo-L [ = H ALLA
Z(s) = Lys + ——23C_ 1 =3 ]
sLy+ = O—YYY ¢ —0
| |
sLo [
— I i
18+ 1 SQLQC 0:4 F]

_ L13(1 —+ SQLQC) + sLo B S((Ll —+ Lg) —+ LlLQOSQ)

1+ s2L,C LoCs?2 +1
Cnnes(PHERE) (S ER)
- L0 s+ 4o -n $*+ 1,0
_ S (32 T 3>?:J1r>1<4) s(s*+35)

$2+ s+ &
G




> Re

"

— | A\
= >
Y ol

- N <
N, e — I 7f
| »
S |_| "N
ap) 28 -
] ~— |
N 2



52 —I—i
=gl e )
7 —
w(—w? + 1
X(w) — ( . 13)
RAT1

X(0)=0, X(0)=00

=l

>+
i)

21



